GRPO

Rt
#uiEs: AR1002 1@ 122k BB msiES.

MWt IHRBERIBE/F 1002 METH, EHE@AImEER. WREFER, M1y, SR
ma3o

prompt = "<image>\nPlease identify the most appropriate brand from the
following options based on the image content:\n"
for i, brand in enumerate(self.all_brands):
prompt += f"{i+1}. {brand}\n"
prompt += "Please only respond with the brand name, no additional explanation

needed."

KHERNE:

a. SFTHWInternvl2.5 + GRPO

b. PretraindInternvl2.5 + GRPO
LIIEE: 3090 (24GB) X2

,

HE:
B ARG ARBHNAENRS, HEHRbug,

B)
1. LorafVi&E, BrifEApeftiiloraconfig, £ ANGRPOTrainer, FAEGEESASHI A

2. GRPOI&E T per device batch sizefg, FHEEBDatasetXEigEbatch size, BN EIEZHEETK
FrBYbatch size&183k, [EBY, GRPOMIbatch=#EDatasetfybatch

3. InternvIfViRE EFgenerateRIREL, EBEEXHREABRIEAT Qwen/RiarIgenerateKEL, M
GRPOTrainerfY=EfiiFlinternvifigeneratek#y, “ENSEHAE, PAIUSHXITHIEIR, L
M, HIEZ%BIshape[batch_size, sequenze_length]#91E )T,

4. GRPO=B 1T tokenizerE 5 iaEmia, MMIRIFinputs_idsflinputs_masksF AR LUEIE R
TRMARABTHAXEREE, b, EmEELMNEMinputs_idsMinputs_masks, FHXEXRIARRT
JERTEGRPOTrainerByZEHN4F#, ¥ FInternvIfiRE!, FEHETESHMIBBNISGE:



if self.model.name_or_path == "Internvl2_5":
print ("B AInternv12_SHEFA")

else:

prompt_inputs = self.processing_class(

o 0 b W N

prompts_text, return_tensors="pt'", padding=True, padding_side="left",
add_special_tokens=False

)

prompt_inputs = super()._prepare_inputs(prompt_inputs)

prompt_ids, prompt_mask = prompt_inputs["input_ids"],

prompt_inputs["attention_mask']

5. HFGRPOTrainerifE1E A generatefy{ii EF BtokenizeriABXinput_idsZ ElIREA & ABANEK
EREEinput_idsBVE, MlLtBTInternvi® B3 #IEH#H TR, FAIUBRERAKEIZEN
None., ZFTUAARRE InternvIBVRERERIHE, EAFEEBILEMgenerateFH51:

1 1if self.model.name_or_path == "Internvl2_5":
2 print("EIRAInternv12_S5HERER")
3 pixel_values = torch.cat([x['pixel_values'] for x in inputs], dim=0)
4 questions = [x['prompt'] for x in dinputs]
5 num_patches_1list = [x['pixel_values'].shape[0] for x in inputs]
6 prompt_ids, prompt_mask, completion_ids, responses =
self.model.batch_chat(
self.processing_class,
pixel_values,
questions,
10 dict(max_new_tokens=self.max_completion_length, do_sample=True),
11 num_patches_Llist,
12 history=None,
13 return_history=False,
14 is_all=True
15 )

6. ETERMEIEZE, Internvl LEBEMoutputs_idsEIBRinput_idsEMERIAZS, ERE2GRPOZR
INN BRI ENRTIRNAS, FIUMX=1NTEXEEEBRERS, PRULLHRNT AR
I

1
2  prompt_completion_ids = torch.cat([prompt_ids, completion_ids], dim=1)
3
4
5

prompt_length = prompt_ids.size(1l)



6  prompt_ids = prompt_completion_ids[:, :prompt_length]
7 completion_ids = prompt_completion_ids[:, prompt_length:]

7. BTRANREE, SERENNEERITE, &EMENERT, FRH7IGNERESE, BE
LBHEE T —1 ‘logits_to_keep’ BIFEEL, MiEinternvl Bforward BUIIER, BB ZSH.
MECEREFREEGNEE, InternvIiFE, ZIOBIEERR, FITEXMIE, FHAEE,

with self.accelerator.unwrap_model(self.model) .disable_adapter():
ref_per_token_logps = self._get_per_token_logps(
self.model, prompt_completion_ids, attention_mask, logits_to_keep

A W N

FRrE RERIRIRFIRER

HI_EEFrEIRIERREgrpott ¥ lim, Minternvi@vim, vimIEEEHEIIMFIENENE, REIT
IMEBECHRE, %&logits_to_keepSEPr_ERvim.language_modelEATEREINESER, FRLAIRTESRT
MNa) E4F# Bself. model.languagef@ /R 7 el 43R LIEEE T

BRI A B R B TEIMNBEFNIZITSE, LUERN grpoiitrainer, NMENEREIEMESLI, EANCELE
BN REprompt—MiaN, HEERKERKIANNE, EEENZXENRIERINIZE (BEEE
N ERNRERENIEE) , ARLATEBRANDIEEPR, Kiinpupts_idsHFER, EEMIEFR, NREK
(THEXNEGRNAIERE S ART, BxEEN, JRAENBENDEZE, B, ERHPRISGHE
GRNE S, FTURITSSREEGREURRIVREL, MRFERE, URGELEILIT RN F A B
o

1 prompts = [x["prompt"] for x 1in inputs]

2  prompts_text = [maybe_apply_chat_template(example, self.processing_class)
["prompt"] for example 1in -inputs]

3

4 if self.model.name_or_path == "Internvl2_5":

5 print ("B AInternv12_SHEFA")

6 else:

7 prompt_inputs = self.processing_class(

8 prompts_text, return_tensors='"pt'", padding=True, padding_side="left",
add_special_tokens=False

9 )

10 prompt_inputs = super()._prepare_inputs(prompt_inputs)

11 prompt_ids, prompt_mask = prompt_inputs["input_ids"],

prompt_inputs["attention_mask"]



ERIERRTT R, ERTTREEAE, AT #HITER T

FTEYIR) R .

BEAEREEMR, auto mapEiEEISE NDataParallel, ARXSTA—AZHIEE, SHRBL
EIBTT, MRFohERGEE, AdiEEREERE, FERxBIEHFNRR, §REENRKN,

FRUERRRIERT, #iloralill&SHETIA:

def get_lora_config():
return LoraConfig(
task_type="CAUSAL_LM",

r=2,

lora_dropout=0.1,
target_modules=["q_proj", "k_proj"],

1

2

3

4

5 lora_alpha=8,
6

7

8 bias="none"
9

2025/3/31%%h

FAT1EIntern-VL-2.5-7B, Qwen2.5-VL-7B, Gemma3-4B=M&EH& _F#HT 7illERMiR. MiERFARE
BB ERENRA

InternVL:

BEERE, EIMERAaccelerate#HTIIHGNEE, 1#0vim_grpo_lora.py. Ffi17Eaccelerate confight
RE T gpufEAfE, MAVBRMREEISH, RARENEARBRREILREMN—TEEFIE mhERY
listhP B EMRNESR, HFER IR MER, RIIRBVISERIFEERNXNERD . XFNHUERR
agrpolNRN, EZInputtVKEIKENBEHERE, XEFEEL THETRB. NEENITEESET
—MNEARBNIFIER



work > chat_grpo_output > checkpoint-150 > trainer_state,json > ...

10 "log_history": [

11 {

o CHULIT Y UYUUE U UUT LY UTe
14 "grad_norm": 8.0,

15 "kl": ©.0024821037222864166,

16 "learning_rate": 9.933333333333334e-06,
17 "loss": ©.e001,

18 "reward": 9.8,

19 "reward_std": ©.8,

20 "rewards/reward_func": @.8,

21 "step": 1

22 b

23 {

24 "completion_length": 5.625,

25 "epoch": ©.9012531328320802004,
26 "grad_norm": ©.0,

27 "kl": ©.0015911268670691263,

28 "learning_rate": 9.866666666666668e-06,
29 "loss": ©.e001,

38 "reward": ©.83125,

31 "reward_std": ©.8625,

32 "rewards/reward_func": ©.83125,
33 "step": 2

34 }s

XEBER151. 152stephIill&RIE Lo

Qwen2.5:

Qwen2/2.5-VLAF|MInternVLEIGEFEFRYA, XRFEMFEDTE open_rlVEIBIHREI AT BANRNS,
HIMERR GRINERRREE, MELBSHBNRE) , MR RBM, JREAIT./open_rl/TF, 0
QwenkYi)I| ZREI 2SR5 —EL

XORfER T qlora, KIBRMIALMERE, ARRBERRAINTRA:

1 prompt_text = "Please tell me the brand of the product in the picture between
labels <answer/> and </answer> and explain the reason between labels
<thinking/> and </thinking>"

SEE:

1 bnb_config = BitsAndBytesConfig(

2 load_in_4bit= True,

3 bnb_4bit_quant_type= "nf4",

4 bnb_4bit_compute_dtype= torch.bfloatl6
5

Loralfid& :



1 peft_config = LoraConfig(

2 task_type="CAUSAL_LM", # [ANsECausal Language Model
3 inference_mode=False,

4 r=8, # LORA

5 lora_alpha=32, # LORA alphaZ®#
6 lora_dropout=0.1, # Dropout#fE

7 target_modules=[ # FEEGIREE
8 "q_proj",

9 "k_proj",

10 "v_proj",

11 "o_proj",

12 1,

13 bias="none",

14 )

15

GRPOECE::

1 def get_training_args():

2 args = GRPOConfig(

3 output_dir="chat_grpo_output",

4 num_generations=6,

5 learning_rate=1le-5,

6 logging_steps=100,

7 max_prompt_length=None,

8 gradient_accumulation_steps=1,

9 max_completion_length=200,

10 per_device_train_batch_size=3,

11 max_steps=1000,

12 dataloader_pin_memory=False,

13 model_init_kwargs={

14 "quantization_config": bnb_config,
15 "torch_dtype": torch.bfloatlé6,
16 "use_cache'": False

17 }

18 )

19 args.epsilon = 0.2
20 args.num_iterations = 1
21 return args

X BRSNS ESEFR_ERGRPOConfig”tiBRY, BlfETEopen_rlpRIBHEEZEHE, I
BINA I,



REHREFR T IRNERIRNBTHITL, TEEEREZNANBTREFE, IREXREHABREREEF
TSNS

==L
0:

® 00in@ooin-media-server@02:~/gc/qus python test.p: r
Loading checkpolnt shards 100%| | 5/5 [@0:02<00:00, 2.48it/s]
Some parameters are on the meta device because they were offloaded to the cpu

Uslng a slow image processor as use. fast is unset and a slow processor was saved with this model. “use_fast=True' will be the default behavior in v4.48, even if the model was saved with a slow processor. This will result in minor difference
n outputs. You'll still be able to use a slow processor with 'use fast=False .

0| | /7 (21:23<00:0, 163.375/1]
HERBER: 19.52% (130/666)
00in@ooin-media-server@@2:~/gc/qus [|

500steps:

Using a slow image processor as "use_fast’ is unset and a slow processor was saved with this model. “use_fast=True' will be the default behavior in v4.48, even if the model was saved with a slow processor. This will result in minor difference
s in outputs. You'll still be able to use a slow processor with "use fast=False' .

| 14/14 [42:49<00:00, 183.565/it]
Aﬂ%% 19.46% (130/668)

1000steps:

Loading checkpoint shards: leoX |GGG | 5/5 [ee:e3<ee:ee, 1.43it/s]
Using a slow image processor as use_fast’ 1s unset and a slow processor was saved with this model. “use_fast=True' will be t
he default behavior in v4.48, even if the model was saved with a slow processor. This will result in minor differences in out
puts. You'll still be able to use a slow processor with “use_fast=False .

1ee | [ | 114 [e4:46<@:0@, 20.45s/it]
AEFRER: 19.79% (132/667)

RIEEE

https://kalomaze.bearblog.dev/grpo-judge-experiments-findings-and-empirical-observations/f&

BT 2R [ B £ Y 5

R batchBVERIILF WA EFRVEAR, FEMRIBEZRRIthinkiVKER S -

HE_.I. 1|&E&TloraE’JEE§J /\T_-L?:J—I' *Eﬁ:ﬁﬁﬁj\lora, = ZN¢) E’J %I_JFFIE E?ﬁE;‘l’o
o[l

0:00, 31.50s/it]
MR 19.52% (130/666)

‘o0 | | ::/1¢ [07:32<00:00, 32.33s/it]
JEHEER: 19.55% (130/665)

Gemma3:

Gemma3xttb IR MERBRANMSR, METEIEEGRPOTrainerfISHELE, BMEMR{LE R LUE
THLLMER, E2FEANsEMlayergE o icEldeviceRIEEiR, FERunslothNEEER &k RIX N A
i, BERZIFERIIL, ®RELXMNSRIIGRITE, b, B43KF, J:"|"L§num generatlonjﬂ
BY, =BznhiAEbatch_size®l2X4=8, ERERHA—iK-FRINFbatch#iE.
mapZEl4sKkk L& F R,

BINMER T4BMIREEY, BT unslothBloraig &, &BHITEW.
MEEEENGemmasRANMRAMBERENO (GlILsIR) -

gz e

2025-03-30 22:30:49,585 - INFO - 2FFAZEL: 668
2025-03-30 22:30:49,585 - INFO - IFHRTAMIEY: e
2025-03-30 22:30:49,585 - INFO - S4% /ﬁﬁﬁ ©.e000

S K N S -



https://kalomaze.bearblog.dev/grpo-judge-experiments-findings-and-empirical-observations/

e s v e oty aa a
Wi TR !

2025-93-39 22:47:37,180 - INFO - mUFAEl: 668
2025-03-30 22:47:37,180 - INFO - IFHRTREY: e
2025-93-39 22:47:37,180 - INFO - ER#R/EFAEE: o.0000
coin@ooin-media-server@®2:~/gc/gemmass ||

BMMERGemma3-12BRVEME (Rilllgk, Ti&lIg%k) 120!

IARD WL LI2AT &

2025-93-3@ 23:25:31,708 - INFO - SFFAEL: 668
2025-83-3@ 23:25:31,7608 - INFO - IFFETRNIEL: o
2025-83-3@ 23:25:31,780 - INFO - S#2/EHAZR: 0.0000
ooin@ooin-media-server@@2:~/gc/gemma3$ python test.py D

#58. GRPORHE M mnmh@MEIRIVILEESS, MR Msft,



